Seat No.:

Subject code:360301
Subject Name: Biomedical Signal Processing.
Date: 16 /05 /2011 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) Define digital signal processing. Enlist applications of DSP in
different fields.
(b) Draw ECG waveform. Explain types of electrodes used in ECG.
Q.2
(@) Explain process of sampling.
(b)  Describe the need of Quantization and explain Quantization process.
OR
(b) What is an FIR system? Compare FIR system with IIR system.
Q.3
(a) Explain type-1 frequency sampling method of designing an FIR
filter.
(b) Describe butterworth filters.
OR
Q.3 (@) What is correlation? Explain types of correlation.
(b)  Compute the cross correlation between following two signals:
X(n)={1,1,0,1} and Y(n)= {4,-3,-2,1}
T T
Q.4
(@) Write down the trigonometric form of fourier series representation
of a periodic signal. Obtain fourier transform for exponential form.
(b)  Describe following properties of fourier series:
1) Symmetry 2) Scaling
OR
Q.4 (a) Determine the fourier transform for the double exponential Fulse
shown in fig. below, whose function is given by f(t) = ¢ ™ E
f{t)
1
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(b) Describe frequency shifting properties of fourier transform.
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Determine the spectrum of f{(t) cos w, t by using this theorm.
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Describe the data reduction techniques in brief.
Answer the following question:
1) Define ENG. Explain ENG electrodes.
2) Describe different EEG pattern. Explain block diagram of
EEG.
OR
Define wavelet. Explain continous wavelet transform.
Answer the following question:
1) Give any two applications of wavelet transform.
2) Define (i) Mother wavelet (ii) Decomposition
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